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1 [103] 133 |FB HF X#EGTP) R |vzubsuRL—FRyy| 912 9.12 R
2 | 21| 134 |8 #F LR C W) 2 |vxubsvRy—Frvs| 917 9.17 BE
3 [102] 60 |'h K— AE I |ZTYIR 9.18 9.18 BE
4 |8 | 9 |RIF HRE 74 2 [CrysSytiLTUT| 9.20 9.20 BE
5 |110]| 48 |#iE BE Z@ah) 2 [EvHR 9.38 9.38 BX
6 [ 65| 59 |#IF BiE AEHR @ |oxubsoRy—FRvs | 940 9.40 BX
7 178] 62 'hNE K— Baxovh) 2 [avh—T— 9.42 9.42 R
8 | 57| 10 |AI% =& IA—T414R Q@ |CryoSyEILTIT| 951 9.51 BE
9 | 4 1106 |+& A 1)/\— 2 [IS=vrSutLTUT7| 9.64 9.64 #
10| 91 | 21 |F%E % |JILE— R |IATIEKRUTAT | 966 9.66 #
11129 | 66 |HEE HKX [T« R |E=Fa77—F)L | 969 9.69 %
12 | 14 | 129 [F)Il U=k |HE(ED) 2 |vxubsuRy—FRws | 9.70 9.70 BE
13 | 68 | 132 |8 #{F ETgli}B;Tphin L |Lxubs R —TRyS | 9.71 9.71 o
14 | 72 [ 110 |78 B5F) Y 2 [CxvsSytILTUTZ| 9.90 9.90 #
15| 26 | 85 |fiE& B D @ [CrvsSutTUT] 9.99 9.99
16 [ 47 [ 89 |&5H BA Ea 2 |MF—FIL 10.00 10.00
17 101 77 [iBK = I)LT Q@ |C¥yoSyEILTIT| 1011 10.11
18 | 41 | 135 |2 & Minimoni(3=£2) | @ [vxubrSory—TRvs| 10.30 10.30
19 | 13| 102 |t & #&E GRACE('LARA)| & [4v9Uyyaavh—an=1ih| 10.34 10.34
19 | 80 | 87 |®bgx H& 3% R |PrvsSvtILTYT| 10.34 10.34
21| 58| 75 |k 7 HAT 2 |MMF—FJL 10.40 10.40
22 | 34| 58 [#1%F RiE Hlb @ |oxubsoRy—FEvg | 1041 10.41
23 [ 32| 22 [AWL == Ta)7—/ & |4vyYyvaavh-an=In| 10.53 10.53
24 | 53 | 37 |KE #2z xlby 2 |91hya1-%'-Av7'0-9| 10.75 10.75
25| 3 | 105 [+& %= Ewvbk 2 |1Zy9R 10.77 10.77
26 | 27 | 120 |[{—HEF Fo€ [/ > 2 |P¥vo5vtILTUT7| 10.79 10.79
27 | 96 | 142 [;BH BiLF |2—")— @ |E=FaF77—FJ)L | 1082 10.82
28 46 | 2 |[RE B2 SRY @ |senzsvrze-nzanzon | 10.87 10.87
29 (31| 64 [RE 7% 17 @ [CrvsSvtLTYT| 1088 10.88
30| 16| 5 [8RA *¥F HA R |PrvsSvtILTUT| 10.89 10.89
31| 22| 83 [#iKk HRF Jvx— @ [CrvsSvtLTUT| 1092 10.92
32 | 40 | 68 |HKEk BFF |[—F R |4sUT7o T4 k| 10.94 1094 | B%
33 [ 62| 61 [\hE K— D= R |ayh—T— 10.96 10.96
34 | 38 | 122 [Fp4 L 87— |UAY @ [CrvsSvtLTUT| 11.00 11.00
35 | 2 | 28 [E=@gk &=RE BEC)Y) A == 11.01 11.01
36 | 84 | 55 [H% Eth aLF @ |CryiSvtILT)7| 11.05 11.05
37176 | 95 [ AE LU @ | FT—FJL 11.07 11.07
38 | 28 | 108 [EB ®B oYU~ & |kMMFT—=FJL 11.22 11.22
39 | 69 | 43 [/\iE flith £~ 2 E=FNL 11.30 11.30
40 | 77 [ 49 | KK _FIzh BBEOCAL) 2 |4 F—FJL 11.32 11.32




201 1 IH)AM)-LERALBEMMRE KK -IZ2F2a7N AL =

IE6L| HIE| sy | HBEKA HiEXE |5 XiE AL | MEFR I | BEF (VL
41 | 19 | 97 |AH {E#F [0F> @ |247—74v22TY7| 11.40 11.40
42 | 37 | 80 |BE E#E [hE I |CrviSvtILTIT| 11.61 11.61
43 1 100| 72 |{EARK EFE [7IL/\RAR L EFS 11.68 11.68
44 | 88 | 143 |#+IH X X—ih— @ |Feq=—=oLrTwrEyy | 11.72 11.72
45 |105| 18 [# . E =T Hoh R |zrupravh—zis=zu| 11.77 11.77
46 | 50 | 123 [PE #=E /7 2 |9hya1-%'-Av7'0-9| 11.79 11.79
47 | 49 | 67 /M Bz  [Br3 @ [rMF—FI 11.82 11.82
47 | 104[ 136 |[fElL &= 4)T7 L @ | xubsoRy—FRvs | 11.82 11.82
49 | 73| 63 /N & BAR#*1) 2 [avh—T— 11.87 11.87
50 | 20 | 90 (1 BAZ INE@TY) 2 |9hyar-%'—h-74h’v| 12.02 12.02
51 [ 39 | 103 [ix&X EF ODDO(#y}) & |4vhYyvavh—anz| 12.06 12.06
52 | 60 | 92 [N =% BEEED 2 |Yhyar-%'—h-74h’v| 12.12 12.12
52 | 71 | 39 [KfIH M= |[RN7— & |kMFT—=FJL 12.12 1212
52 | 89 | 165 [&& FRAF |[HKyuHh @ [rAF—FJL 12.12 12.12
55 | 81 | 127 [FE %% A—F!)— 2 |MMF—FJL 12.20 12.20
56 | 83 | 56 (&3 BT HdIE @ (CrvsSvtLTUT| 1224 12.24
57 | 92 | 114 [h¥ & Louis(1) @ [rMF—FJL 12.26 12.26
58 | 94 | 82 [&ll EREX |7 @ | FT—FJL 12.35 12.35
59 | 54 | 157 [#1L #®F R—b5ph R |zrupravh—zii=za| 1241 12.41
60 | 30 | 158 [;EiD 2 TAh @ (CrvsSvtILTUT| 1244 12.44
61 | 45 | 125 [[R @M |4LA q |ZYIR 12.64 12.64
62 | 44 | 145 [ 8 & [63:5) R |PrvsSvtILTUT| 12.70 12.70
63| 8 | 101 [IZXK {£H¥E |Rybk 2 [EyOR 13.43 13.43
64 | 82 | 71 [{EAK = |54 2 [&EX 13.44 13.44
65 | 98 | 121 (O &HF |4V F ST == 13.48 13.48
66 | 33 | 32 [XKIR F— = S |92 -h-74hv| 13.54 13.54
67 | 25 | 147 | &% 3% AF¢eeh) I |EX 13.75 13.75
68 | 23 [ 104 iR #HFE KABUKIW7'®) | & |49 Yyvaavh—AwzIn| 13.77 13.77
69 | 7 | 6 [ithE ZAZ Hyia @ A=A EyyRIUE| 1393 13.93
70 [ 67 | 109 |8 FHF |S/LF¥— 2 |9IRbVIUEHRI4bTY7 | 13.95 13.95
71| 5 [ 146 |28 BF LwAlwA R |PrvsSvtILTUT| 13.96 13.96
72 | 9 | 151 [IUF FI5A g @ [PrvoSyEILTIT| 1411 14.11
73 | 61 | 54 |K¥ UAA |Luffy(b74) @ [rMF—FJL 14.20 14.20
74 | 12 | 144 |28 R H |IFA @ [CrvsSvtLTUT| 1423 14.23
75 | 79 | 33 |KiR #F AH @ (FIT 14.39 14.39
76 | 87 | 76 |&EEB HEF |54 2 |MMF—FJL 14.40 14.40
77 | 66 | 38 |KiT B Cocoa(137) R |PrvsSvtILTUT| 1456 14.56
78 [111] 156 |&H HFAF |Fv¥Fv 2 [MFT—F1L 15.01 15.01
79 | 109 | 119 |+t {EH > 2 |vxybSURy—FRvs| 15.16 15.16
80 | 56 | 154 [&@A &HFE J9yx— I [EEX 15.40 15.40




201 1 IH)AM)-LERALBEMMRE KK -IZ2F2a7N AL =

IE6L| HIE| sy | HBEKA HiEXE |5 Rig AL L | MER IV | BET IV HE
81| 70| 23 [(@E H DAILD S |75Y1R%—-9)Hy -] 16.15 16.15
82| 6 | 107 [EB EB HEL K @ |oxubsoRy—FRvs | 11.75 17.75
83 | 17| 4 [Nl =% FIVED) 2 [zursvRry—TRys| 1319 | 5 18.19
84 | 51| 3 [Nl =% 1t 2 |vxubSURL—FRvs| 1876 18.76
85| 10 | 70 [;BE# Mk F R |PrvsSvtILTUT| 18.86 18.86
86 | 64 | 139 [JEE H 759=— R |Z=Fa7iaru¥—| 1938 19.38
87 | 114] 153 |&M H#HF |vUFX @ |ozubSURy—FRys | 19.52 19.52
88 | 18 | 25 [EX Fr FECRY) 2 [—X— 20.04 20.04
89 |106| 57 |EH BT LAy S |F—VL%—TV7 | 2032 20.32
90 | 42 | 91 |B#¥ FX Raichi(717) 2 [4v9Yyyaavh—anzIn| 20.86 20.86
91 | 43| 93 [N & BH(1) 2 |91hya1-%'-Av7'0-9| 20.96 20.96
92 | 75 | 13 |R RIEH S5X Q@ |CrvoSvEILTIT| 21.77 21.77
93 | 107 | 148 [LLlF RFEE HPE R NTT7=2TIUT 22.16 22.16
94 | 52 | 81 (& &= E—X @ Z=FaF7HYIRTUR| 22.78 22.78
95 | 95 | 51 | KA Flgh (S IOVED) 2 [MMF—FJL 23.02 23.02
96 | 36 | 149 [IUT HPOD [Khd R vyt TUT| 23.33 23.33
97 | 99 | 52 [KT E¥ £#HL0 R Z=FaF7HYIRIUE| 23.82 23.82
98 | 63 | 47 [F]8 EHKF |Fa—oA 2 [EvOR 24.05 24.05
99 | 115 42 [/MiE & Hhria 2 [—R— 2412 2412
100 116 126 |[FE %% DA TAT> 2 |[MF—FJL 24.33 24.33
101] 55 | 26 |#BX Fir |B&HGIY) 2 [¥—Z— 26.24 26.24
102| 97 | 15 |[FH HHH albatross @ [Z=Fa7HvHRTIE| 2813 28.13
103[ 24 | 96 [RE &X FKEU) @ [Z=Fa7¥vsRTUE| 31.03 31.03
104| 86 | 100 [IZA FEA |RZE 2 [/r3ay 33.81 33.81
105) 15 | 24 |EBA FHEF [BEEIH 2 [—X— 38.23 38.23
106| 35 | 137 [BE EBF  |/<{E@vhH) R |RAS=T7> 43.69 43.69
107] 90 | 1 [/hEil £ [KEEF 2 %X 43.63 |30 73.63
108| 74 | 150 (LU FI5h Fay/i— S |OrvISvtILTIT £
109 1 | 138 [JEA EF | FF3 @ [rAF—FJL 545t
110 11 | 79 |iEK = S)LE 2 [y oSvtEILTIT 544
111] 48 | 94 |"TA K Erd @ | FT—FJL LT
112 93 | 27 [[IXR = FFxE @ |ABITTLANYUE 545t
113[112| 44 (MBS BF |- I [EEX 1544
114| 59 | 124 |[|F B T34 2 ZyoR 30 44 Lt = —
115[108| 45 [F1L £t LT R ABYFLTLANYUE TiE@




